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6,0.5 18, 1.2
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A4 11,6.8
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1,14 3.33,
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5,5.1 151,

6, 5.6 1.508

2.76,
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9,346
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® 19,15 16, 2.6
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10, 1.7 23, 6.3
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87, 2.2L

7=8E 7.5m
() 23MXL 2.6 kg

1,59
5,35
16, 2.7
19, 1.3
10, 3.6
31, 0.8

2074

1574

2574
1.9kg

3HH

1.19tH
148,051
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A 49 6 36, 27
B 10 2 39, 26
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8, 10
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o 21,15
@M 12, 28
@ 18,27
45, 10
32, 30

54, 45
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80, 144
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55, 15
10, 65
40, 46
32, 56
M 57, 42
44, 56
78, 36
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0 16874
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65008
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184
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1, §F 35h1

B 6cm 50.4 cm
24 cm i 60cm
37.2cm @ 42cm
1, §3 33N
) 37.68cm @ 163.28cm
55.264 cm 188.4 cm
87.92 cm () 50.24cm
119.32cm ) 64.056 cm
A 141.3cm [ 81.64cm
2, XI8 EL£ HXIZ 250
i 5cm B 6cm
9cm @ 11cm
13cm 17cm
24 cm ) 19cm

81cm
£ 96 cm
) 138cm

M) 31cm
(@ 68.2cm
105.4cm
(B 124cm

) 94.2cm

131.88 cm
150.72 cm
160.14 cm
5 182.12cm

) 9cm
M) 14cm
M 26cm
42 cm
55cm

167.4cm B 74.4cm
[ 181.66cm (B 111.6cm
A 15.5cm 136.4 cm
55.8 cm 155 cm

3 37.8cm
46.5cm
219.8cm

3cm
8 10cm
M 14cm
19cm
f} 30cm

7. ¢ 5ol 35



047 2 nig z& wug 251

7cm M 6.5cm 16 cm
M 11cm 9cm 9.5cm
32cm B 17cm 25 cm
44 cm £ 20cm
A 54cm ) 28 cm

05" 3 selyol

B 12cm’ @ 867cm’ B} 507 cm’® 3.1cm’ 1240cm”®  F4) 1004.4 cm®
192 cm® @ 1587cm® [ 768 cm’ 151.9cm® [ 2430.4 cm® 1500.4 cm’

300 cm® 108 cm” @ 1323cm® (B 446.4cm’ [E) 49.6 cm® 1785.6 cm”
588 cm” ) 243cm’® 2523 cm’ @ 793.6cm’ 310 cm® 2790 cm”

06" 3, 1o gol
28.26 cm’ @ 1808.64cm’ B 452.16 cm® 48 cm’
200.96 cm’ 2122.64 cm’® (A 615.44 cm® 523.9 cm”
706.5cm’ B 12,56 cm® 803.84 cm’ B 1384.74cm’®
907.46 cm’ B 785cm’ 1661.06 cm”
@ 1133.54cm’ ) 254.34 cm® B 1962.5cm’
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A 5,5 3,75

B 75.6cm’
17.6 cm’
27.9 cm’
103.8 cm’

A 2R ot gl

P 30cm @ 18cm
90 cm 8cm

40.3 cm B 32cm
148.8 cm £) 14cm
[ 62.8cm M) 37cm

@ 396.8cm’
@ 3472cm’
72.9cm’
B 496 cm®

13cm
[ 21cm
B 8cm
lcm
5 12cm

26 cm”
16 cm’
@ 100cm’
M 126cm’

27 cm’
147 cm®
B 251.1cm’
607.6 cm”
113.04 cm’

6cm’
[ 81cm’
B 352cm’
M 245cm’

£} 200cm’
) 1401.2 cm®
3942 m’

71 69.08 cm
) 4cm

14m
153.86 cm”
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